Warm-Up
Complete the square: r+ 8r+ _U.Q

5 2
)=l

+ What is the vertex of the quadratic function f(x) = 6x2 + 12x — 18?

a. (0,-18) @(—1,—24)
b. (3,0 y Alsi0)

Agenda:
1) Investigation on Exponent Rules.
2) Practice problems.

3) Group Practice.
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Exponent Rules Pattern Investigation

Expectations:
e \Work in pairs.
e Music volume > Talking volume

e Cooperate.

® Each section: 5-7
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Multiplying numbers with
exponents

(Product Rule)

Dividing numbers with exponents

(Quotient Rule)

Exponents with raised to an
exponent

(Power to power)

Exponent Rules
Fora=0.b=0




Zero Property Negative Property

Example

Simplify and rewrite ng only positiv
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a. (5a®)(—=3a™) b. —1\‘3 5)2
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4, -2y-3
Example 1 — Sumplify: Gz y™)
(2}{3)’2)-2

-5.,240
Example 2 -Siumplify: (32 75°)

(4X -3y2 ) -2



=3
3% 3y'2

4x$3a"3

Example 3 —Sumplify:

Conclusion

1. We do not want negative exponents.

2.Apply the exponent rules to simplify expressions: Product, Quotient, Powel
to Power, Zero, and Negative rule.

3. Each terms must be examined and simplified individually.



Matching Activity!
e Get in pairs.

e Each groups will receive a sheet.

e You and your partner will simplify the expressions.
e Work / Solution / Final Juct in the ONE i I
® You have 45 minutes

e Raise your hand once you're finished.

-Solution is at the front. Check as you go!

Expectations:
e Work in pairs.
e Talking volume < Music volume
® 45 minutes.

1.-(9x)°

2.0y'P°

3.1/(-2)"




3__-24-2 4 -5,2
Example 5 —Simplify: 0% ¥ ) 0% 7))

3.4
4x* - 27

13. (2ed*) (ed)®
14.(2fg* ) (fg)*

(2x*

EXPONENTS PRACTICE

1s%§

atyh
15.7

Y 3
u{ﬁﬁg

18, (&ﬁ)‘
19.y~7
20.73

2=y
2, s

=
3.5%-x™
240.x"°

25.x" - x7

26. (-G

2)—3

¥
7. —

S2x®
B o=

29. f=H N

33, (ZI’ ~3)-l
t. -8

ut
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